

NOTES ON A ROGERS-RAMANUJAN TYPE IDENTITY

FENG-ZHEN ZHAO AND TIANMING WANG

Dalian University of Technology, Dalian 116024, People's Republic of China

(Received 11 November 2002; after revision 7 July 2003; accepted 23 September 2003)

In this paper, a Rogers-Ramanujan type identity is proved by a new method. In the meantime, some Rogers-Ramanujan type identities are obtained.

Key Words : Rogers-Ramanujan Type Identities; Basic Hypergeometric Functions; Partition Identities

1. INTRODUCTION

For convenience, we first give some notations.

For $|q| < 1$, let

$$(a; q)_0 = 1, (a; q)_n = (1 - a)(1 - aq) \dots (1 - aq^{n-1}), \quad n \geq 1,$$

$$(a_1, a_2, \dots, a_r; q)_n = (a_1; q)_n (a_2; q)_n \dots (a_r; q)_n, \quad (a; q)_\infty = \prod_{n=1}^{\infty} (1 - aq^{n-1}),$$

$$(a_1, a_2, \dots, a_r; q)_\infty = (a_1; q)_\infty (a_2; q)_\infty \dots (a_r; q)_\infty.$$

In literature¹, we note that Agarwal and Singh established a transformation which contained three parameters

$$\begin{aligned} & \sum_{n=0}^{\infty} \sum_{r=0}^{\infty} \frac{(dq; q)_{n+r} (q^{1-n-r}/b; q)_r q^{n^2+5r^2/2+3nr-pn-pr-r/2} d^{2n+3r} (-b)^r}{(d^2 q; q)_{2n+2r} (q; q)_n (q, b; q)_r} \\ & = \frac{1}{(d^2 q; q)_\infty} \sum_{j=0}^p \frac{(q^{-p}; q)_j (-d^2)^j q^{j(j+1)/2}}{(q; q)_j} \\ & \sum_{n=0}^{\infty} \frac{(d, dq/b; q)_n (1 - dq^{2n}) d^{5n} b^n q^{6n^2 - (2p+1)n + 4nj}}{(q, b; q)_n (1 - d)}. \end{aligned} \quad \dots (1)$$

For $d = -b = q$ and $p = 1$ in (1), by means of Jacobi's triple-product identity²

$$\sum_{n=-\infty}^{\infty} (-1)^n z^n q^{n^2} = (zq; q^2)_\infty (z^{-1} q; q^2)_\infty (q^2; q^2)_\infty, \quad z \neq 0, \quad \dots (2)$$

they got

$$\sum_{n=0}^{\infty} \sum_{r=0}^{\infty} \frac{(q^2; q)_{n+r} (-q^{-n-r}; q)_r q^{n^2+5r^2/2+3nr+n+5r/2}}{(q^2; q)_{2n+2r} (q; q)_n (q, -q; q)_r} = \frac{(q^3, q^9, q^{12}; q^{12})_{\infty}}{(q; q)_{\infty}} - \frac{q(q, q^{11}, q^{12}; q^{12})_{\infty}}{(q; q)_{\infty}} \dots (3)$$

Using the simple transformation

$$\sum_{n=0}^{\infty} \sum_{r=0}^{\infty} A(n, r) = \sum_{n=0}^{\infty} \sum_{r=0}^{\infty} A(n-r, r)$$

to transform the double series on the left in (3) into repeated series and summing the resulting inner series by the q -binomial theorem, they derived a new Rogers-Ramanujan type identity

$$\sum_{n=0}^{\infty} \frac{(1-q^{n+1})(-q^2; q^2)_n q^{n^2+n}}{(q; q)_{2n+2}} = \frac{(q^3, q^9, q^{12}; q^{12})_{\infty}}{(q; q)_{\infty}} - \frac{q(q, q^{11}, q^{12}; q^{12})_{\infty}}{(q; q)_{\infty}} \dots (4)$$

In fact, identity (4) can be proved by a simpler method. The aim of this note is to give (4) a new and simple proof. In the meantime, we will generalize (4) and obtain some identities similar to (4).

As first, we prove (4).

It is clear that

$$\sum_{n=0}^{\infty} \frac{(1-q^{n+1})(-q^2; q^2)_n q^{n^2+n}}{(q; q)_{2n+2}} = \sum_{n=1}^{\infty} \frac{(-q^2; q^2)_{n-1} q^{n(n-1)}}{(q; q)_{2n}} - \sum_{n=1}^{\infty} \frac{(-q^2; q^2)_{n-1} q^{n^2}}{(q; q)_{2n}}$$

Due to the following results (see (122) and (28) of Slater³, respectively).

$$\sum_{n=1}^{\infty} \frac{-q^2; q^2)_{n-1} q^{n^2+n-2}}{(q; q)_{2n}} = \frac{(-q^{10}, -q^{38}, q^{48}; q^{48})_{\infty} - q^3(-q^2, -q^{46}, q^{48}; q^{48})_{\infty}}{(q; q)_{\infty}} \dots (5)$$

and

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{(-q^2; q^2)_{n-1} q^{n(n-1)}}{(q; q)_{2n-1}} &= \sum_{n=1}^{\infty} \frac{(-q^2; q^2)_{n-1} q^{n(n-1)}}{(q; q)_{2n}} \\ &- \sum_{n=1}^{\infty} \frac{(-q^2; q^2)_{n-1} q^{n(n+1)}}{(q; q)_{2n}} = \frac{(-q^2; q^2)_{\infty} (-q, -q^5, q^6; q^6)_{\infty}}{(q^2; q^2)_{\infty}}, \end{aligned}$$

we get

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{(-q^2; q^2)_{n-1} q^{n(n-1)}}{(q; q)_{2n}} &= \frac{(-q^2; q^2)_{\infty} (-q, -q^5, q^6; q^6)_{\infty}}{(q^2; q^2)_{\infty}} \\ &+ \frac{q^2(-q^{10}, -q^{38}, q^{48}; q^{48})_{\infty} - q^5(-q^2, -q^{46}, q^{48}; q^{48})_{\infty}}{(q; q)_{\infty}}. \end{aligned} \quad \dots (6)$$

On the other hand,

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{(-q^2; q^2)_{n-1} q^{n^2}}{(q; q)_{2n}} &= \frac{q(-q^{14}; -q^{34}, q^{48}; q^{48})_{\infty}}{(q; q)_{\infty}} - \frac{q^5(-q^2, -q^{46}, q^{48}; q^{48})_{\infty}}{(q; q)_{\infty}}. \end{aligned} \quad \dots (7)$$

For (7), see (123) of Slater³. Hence, by (6-7) and (2), we have

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{(1 - q^{n+1}) (-q^2; q^2)_n q^{n^2+n}}{(q; q)_{2n+2}} &= \frac{(-q^2; q^2)_{\infty} (-q, -q^5, q^6; q^6)_{\infty}}{(q^2; q^2)_{\infty}} \\ &+ \frac{q}{(q; q)_{\infty}} \left(\sum_{n=-\infty}^{\infty} q^{24n^2 - 14n + 1} - \sum_{n=-\infty}^{\infty} q^{24n^2 + 10n} \right). \end{aligned}$$

It follows from

$$\sum_{n=-\infty}^{\infty} (-1)^n q^{6n^2+5n} = \sum_{n=-\infty}^{\infty} q^{24n^2+10n} - \sum_{n=-\infty}^{\infty} q^{24n^2-14n+1},$$

$$(q^2; q^2)_{\infty} = (-q; q)_{\infty} (q; q)_{\infty} = (-q; q^2)_{\infty} (-q^2; q^2)_{\infty} (q; q)_{\infty},$$

$$(-q; q^2)_{\infty} = (-q; q^6)_{\infty} (-q^3; q^6)_{\infty} (-q^5; q^6)_{\infty},$$

and

$$(q^6; q^6)_{\infty} = (q^6; q^{12})_{\infty} (q^{12}; q^{12})_{\infty} = (-q^3; q^6)_{\infty} (q^3; q^6)_{\infty} (q^{12}; q^{12})_{\infty}.$$

$$= (-q^3; q^6)_\infty (q^3; q^{12})_\infty (q^9; q^{12})_\infty (q^{12}; q^{12})_\infty$$

that (4) holds.

Now, we give the generalization of (4).

Theorem 1 — Assume that m is an integer. Then

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{(1 - q^{n+m}) (-q^2; q^2)_n q^{n^2+n}}{(q; q)_{2n+2}} &= \frac{(-q^2; q^2)_\infty (-q, -q^5, q^6; q^6)_\infty}{(q^2; q^2)_\infty} \\ &+ \frac{q^2 [(-q^{10}, -q^{38}, q^{48}; q^{48})_\infty - q^3 (-q^2, -q^{46}, q^{48}; q^{48})_\infty]}{(q; q)_\infty} \\ &- \frac{q^m [(-q^{14}, -q^{34}, q^{48}; q^{48})_\infty - q^4 (-q^2, -q^{46}, q^{48}; q^{48})_\infty]}{(q; q)_\infty}. \end{aligned} \tag{8}$$

PROOF : Let

$$X_m = \sum_{n=0}^{\infty} \frac{(1 - q^{n+m}) (-q^2; q^2)_n q^{n^2+n}}{(q; q)_{2n+2}}.$$

Then

$$X_m = \sum_{n=1}^{\infty} \frac{(-q^2; q^2)_{n-1} q^{n(n-1)}}{(q; q)_{2n}} - q^{m-1} \sum_{n=1}^{\infty} \frac{(-q^2; q^2)_{n-1} q^{n^2}}{(q; q)_{2n}}.$$

Owing to (6-7), we obtain (8). □

Obviously, (8) is the generalization of (4). From the particular choice of m can obtain some special cases of (8).

In this paper, we can derive some identities similar to (4).

Theorem 2 — Suppose that m is an integer. Then

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{(1 - q^{n+m}) (-q^2; q^2)_n q^{n^2+2n}}{(q; q)_{2n+2}} &= \frac{(-q^{14}, -q^{34}, q^{48}; q^{48})_\infty}{(q; q)_\infty} - \frac{q^m (-q^{10}, -q^{38}, q^{48}; q^{48})_\infty}{(q; q)_\infty} \\ &+ \frac{(q^{m+3} - q^4) (-q^2, -q^{46}, q^{48}; q^{48})_\infty}{(q; q)_\infty}, \end{aligned} \tag{9}$$

$$+ \sum_{n=1}^{\infty} \frac{(1 - q^{n+m}) (-q^2; q^2)_n q^{n^2+n}}{(q; q)_{2n+2}}$$

$$\begin{aligned}
 &= \frac{(-q^2; -q^2)_\infty (-q, -q^5, q^6; q^6)_\infty}{(q^2; q^2)_\infty} + \frac{q^2(-q^{10}, -q^{38}, q^{48}; q^{48})_\infty}{(q; q)_\infty} \\
 &- \frac{q^5(-q^2, -q^{46}, q^{48}; q^{48})_\infty}{(q; q)_\infty} \\
 &+ \frac{q^m [(-q^{14}, -q^{34}, q^{48}; q^{48})_\infty - q^4(-q^2, -q^{46}, q^{48}; q^{48})_\infty]}{(q; q)_\infty}, \quad \dots (10)
 \end{aligned}$$

$$\begin{aligned}
 &\sum_{n=0}^{\infty} \frac{(1 + q^{n+m}) (-q^2; q^2)_n q^{n^2+2n}}{(q; q)_{2n+2}} \\
 &= \frac{(-q^{14}, -q^{34}, q^{48}; q^{48})_\infty - q^4(-q^2, -q^{46}, q^{48}; q^{48})_\infty}{(q; q)_\infty} \\
 &+ \frac{q^m (-q^{10}, -q^{38}, q^{48}; q^{48})_\infty - q^3(-q^2, -q^{46}, q^{48}; q^{48})_\infty}{(q; q)_\infty}, \quad \dots (11)
 \end{aligned}$$

$$\begin{aligned}
 &\sum_{n=0}^{\infty} \frac{(1 + q^{2n+m}) (-q^2; q^2)_n q^{n^2+n}}{(q; q)_{2n+2}} = \frac{(-q^2; q^2)_\infty (-q, -q^5, q^6; q^6)_\infty}{(q^2; q^2)_\infty} \\
 &+ \frac{q^2 [(-q^{10}, -q^{38}, q^{48}; q^{48})_\infty - q^5(-q^2, -q^{46}, q^{48}; q^{48})_\infty]}{(q; q)_\infty}, \\
 &+ \frac{q^m [(-q^{10}, -q^{38}, q^{48}; q^{48})_\infty - q^2(-q^2, -q^{46}, q^{48}; q^{48})_\infty]}{(q; q)_\infty}, \quad \dots (12)
 \end{aligned}$$

$$\begin{aligned}
 &\sum_{n=0}^{\infty} \frac{(1 - q^{2n+m}) (-q^2; q^2)_n q^{n^2+n}}{(q; q)_{2n+2}} = \frac{(-q^2; -q^2)_\infty (-q, -q^5, q^6; q^6)_\infty}{(q^2; q^2)_\infty} \\
 &+ \frac{q^2 [(-q^{10}, -q^{38}, q^{48}; q^{48})_\infty - q^5(-q^2, -q^{46}, q^{48}; q^{48})_\infty]}{(q; q)_\infty} \\
 &- \frac{q^m [(-q^{10}, -q^{38}, q^{48}; q^{48})_\infty - q^3(-q^2, -q^{46}, q^{48}; q^{48})_\infty]}{(q; q)_\infty}. \quad \dots (13)
 \end{aligned}$$

PROOF : We only give the proof of (9). The proofs of (10-13) follow the same pattern and therefore are omitted here.

Evidently,

$$\sum_{n=0}^{\infty} \frac{(1 - q^{n+m}) (-q^2; q^2)_n q^{n^2+2n}}{(q; q)_{2n+2}} = \sum_{n=1}^{\infty} \frac{(-q^2; q^2)_{n-1} q^{n^2-1}}{(q; q)_{2n}}$$

$$- q^{m-2} \sum_{n=1}^{\infty} \frac{(-q^2; q^2)_{n-1} q^{n^2+n}}{(q; q)_{2n}}.$$

By (5) and (7), we have (9). □

Finally, we give the special case of (13).

When $m = 1$ in (13), we obtain by (2)

$$\sum_{n=0}^{\infty} \frac{(1 - q^{2n+3}) (-q^2; q^2)_n q^{n^2+n}}{(q; q)_{2n+2}} = \frac{(-q^2; q^2)_{\infty} (-q, -q^5, q^6; q^6)_{\infty}}{(q^2; q^2)_{\infty}}$$

$$+ \frac{q^2(q^5, q^7, q^{12}; q^{12})_{\infty}}{(q; q)_{\infty}} + \frac{(q^6 - q^5) (-q^2, -q^{46}, q^{48}; q^{48})_{\infty}}{(q; q)_{\infty}}.$$

ACKNOWLEDGMENT

The authors wish to thank the anonymous referees for his/her valuable suggestions for this paper.

REFERENCES

1. R. R. Agarwal and V. N. Singh, *J. Indian Math. Soc.*, **62** (1996), 283-91.
2. G. Gasper and M. Rahman, *Basic Hypergeometric Series*, Cambridge University Press, Cambridge (1990).
3. L. J. Slater, *Proc. London Math. Soc.*, **54**(2) (1952), 147-67.